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https://zh.wikipedia.org/wiki/%E6%95%B0%E6%8D%AE%E7%BB%93%E6%9E%84
https://zh.wikipedia.org/wiki/%E4%B8%8D%E4%BA%A4%E9%9B%86
https://zh.wikipedia.org/wiki/%E4%B8%8D%E4%BA%A4%E9%9B%86
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function MakeSet(x)
X.parent := X

function Find(x)
if x.parent ==
return X
else
return Find(x.parent)

function Union(x, y)
XRoot := Find(x)
yRoot := Find(y)
XRoot.parent := yRoot
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function MakeSet(x)

X.parent := X
X.rank := 0

function Union(x, vy)
xRoot := Find(x)
yRoot := Find(y)
if xRoot == yRoot
return

if xRoot.rank < yRoot.rank
XRoot.parent := yRoot

else if xRoot.rank > yRoot.rank
yRoot.parent := XxRoot

else
yRoot.parent := XxRoot
XRoot.rank := xRoot.rank + 1
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public class QuickUnionUF {
private int[] roots;

public QuickUnionUF(int N) {
roots = new int[N];
for (int 1 = 0; i < N; i++) {
roots[i] = i;

private int findRoot(int i) {
int root = 1i;

while (root '= roots[root])
Java I¢ IIm root = roots[root];
* while (i '= roots[il]) {

y, int tmp = roots[i]; roots[i] = root; i = tmp;
B2 k=48 }
- —

return root;

public boolean connected(int p, int q) {
return findRoot(p) == findRoot(q);
}

public void union(int p, int q) {
int qroot = findRoot(q);
int proot = findRoot(p);
roots[proot] = qroot;
}
b
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1. https://leetcode.com/problems/number-of-islands/
2. https://leetcode.com/problems/friend-circles/



https://leetcode.com/problems/number-of-islands/
https://leetcode.com/problems/friend-circles/

class Solution(object):

def numIslands(self, grid):
:type grid: List[List[str]]
:rtype: int
if not grid or not grid[@]: return 0@
self.max_x = len(grid); self.max_y = len(grid[0]); self.grid = grid; self.visited = set()
return sum([self.floodfill1_DFS(i, j) for i in range(self.max_x) for j in range(self.max_y)])

def floodfill_DFS(self, x, y):
if not self._is_valid(x, y):
return 0
self.visited.add((x, y))
for k in range(4):
self.floodfill_DFS(x + dx[k]l, y + dyl[k]l)
return 1

def _is_valid(self, x, y):
if Xx < @ or x >= self.max_x or y < @ or y >= self.max_y:
return False
if self.grid[x][y] == '@' or ((x, y) in self.visited):
return False
return True



def floodfill BFS(self, x, y):
if not self._is_valid(x, y):
return

self.visited.add((x, y))
queue = collections.deque()
queue.append((x, y))

while queue:
cur_x, cur_y = queue.popleft()
for i in range(4):
new_x, new_y = cur_x + dx[i], cur_y + dyl[il
if self._is_valid(new_x, new_y):
self.visited.add((new_x, new_y))
queue.append((new_x, new_y))
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